TRIANGULATED 4—BAR LESS | S
HOUSING AND FRAME W 25
PART #147545710 | Z

USE ANTISEIZE BEFORE ASSEMBLY

_—
\/\ 5/8 SAE WASHERS \

TRIANGULATED UPPER BAR Au; ﬁ
; N

\ 5/B NF NYLON JAM NUT
[

5/8 X 3 NF BOLT

NOTE: 5/8 X 3/4 STAINLESS POLY ROD END

USE ANTISEIZE BREFORE ASSEMBLY

5/8 NF JAM NYT |

20 11/186

TRIANGULATED LOWER BAR \

REBUSH KIT FOR POLY ROD END

KIT INCLUDES:

5/8 SAE FLAT WASHER PLTD

TRIANGULATED BARE UPPER BAR

TRIANGULATED BARE LOWER BAR

5/8 X 3/4 STAINLESS POLY BUSHED RCD END
REBUSH KIT FOR POLY ROD END

3/4 NF JAM NUT

5/8 X 3 NF BOLTS

NF NYLON JAM NUTS e

OO0~k BrNMNN




o~ !
- - \ - - Sl - - - - 40
i /
G -
Between : Tri. 4-Bar .. :
30° and 40° e This shows the top and side view

of a properely mounted trangulated
4—bar.
w_ ) 0 The top view angle of the bars

— \/i[ | should be between 30° and 40"
EDT qu 1 ]
IO i

The lower bars should be level to
slightly down .5°. The upper bars
from the side view should be as
close to the axle centerline as

o7 l possible and angle down .5 to 1.5

)

)=

T

T
0o

B

paraltel to .5° |
down in front. Htridbar

f




t

[ 3

I /
316

, These are
approx. dim.

coilover boss is determined
// by the mount on the

/rThe depith of the upper

housing.

S

N

The upper mount needs <o
line up with the housing

I mount to keep the

! coilover from binding.

! 15" 1o 18"‘7
/////ff—”—"-_ i: | L qj

upper crossmember
kit. #14153640




